VN series

Z—=FIWZX by TNIVT
Needle Stop Valves

ft## Specifications

T ={# A E f1Max.Working Pressure : 24.5MPa @ 38°C
{# B #5F Working Temperature range : —10~230C
{FRMEEH : 74 0h—RN=2X
Lubricant Fluorocabon base
& Materials
No. &n3 Part Description Qty & Material
1 | KF— Body 1 | SUS316
2 | AT L Stem 1 | SUS316
3 | /¥y x> > Packing ring 1 | SUS316
LEPAVE 94 Packing 1| 773y RT7A1N—
5 /Ny x> Packing 2 |RF PTFE
6 | 7K Gland 1 | SUS316
7 | /Ny & >F v kb Packing nut 1 | SUS304
8 |Avy7F v bk  Locknut 1 | SUS304
9 | N FKIb Handle 1 |ADC12
Note : No.8 Lock nut is option.

RF : Connection

30

E/RERRE (VN)

Mlga
10 30 60 90 120 150 180 200 240
%"C
PSW : Connection
Bottom Mounting (Option)
~Hi%%F BI-LOK #fft./Dimensions BI-LOK End
Connect size o Dimensions mm E5y76)05E
Part No. A Stz Cv
n mm Size mm L L1 F H H1 h h1 B C G G1 t W E M
VN-2D-S 1/8 | 3.18 2 31.7| 25 13 82 6 13 8 22 (1111 24 24 | M20 | 57 18 |M4x0.7| 0.1
VN-4D-S 1/4 | 6.35 3.5 325 25 | 154 | 82 6 13 8 22 |14.29| 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-6D-S 3/8 9.53 5 325 | 25 17 82 6 13 8 22 |17.46| 24 24 | M20 | 57 18 |M4x0.7| 0.6
VN-8D-S 1/2 12.7 7.5 39.3 | 29 23 97 8 16 8 24 |22.23| 27 27 |M22| 70 20 [(M4x0.7| 1.0
VN-6MD-S — 6 3.5 325| 25 [ 154 | 82 6 13 8 22 14 24 24 | M20 | 57 18 |M4x0.7| 0.2
VN-8MD-S — 8 4.5 325 25 | 16.3 | 82 6 13 8 22 17 24 24 | M20 | 57 18 |M4x0.7| 0.5
VN-10MD-S — 10 6.3 328 | 25 |17.3 | 82 6 13 8 22 19 24 24 | M20 | 57 18 |M4x0.7| 0.6
VN-12MD-S — 12 7.5 39.2| 29 | 229 | 97 8 16 8 24 22 27 27 |M22| 70 20 [(M4x0.7| 1.0

TR SURAKBHEES /Dimensions Socket Weld End

~HiiE BH T —/Y—1 U##E#i/Dimensions Pipe thread End

Orifice Dimensions mm B2y 7b05ES Connect size | (yifics | Dimensions mm
Part No.|T(R ) Part No. A )

0 W ) sizemm | L | H|Hi | h |h|B|D|G| |G|t |W|E|M art o in_ | mm |Semm L | Lo | D
VN-4RF-S| 1/4 5 29 | 97 8 16 8 24 | 23 | 27 | 27 |M22| 70 | 20 |M4x0.7|| VN-2PSW-S |1/8B| 11 5 29 | 12 | 23
VN-6RF-S| 3/8 6 32.5| 99 8 18 8 32 | 32 | 27 | 27 |M22| 70 | 25 |M5x0.8/| VN-4PSW-S|1/4B|[14.3| 5 29 | 12 | 238
VN-8RF-S| 1/2 71 35 | 99 8 18 8 32 | 32 | 27 | 27 |M22| 70 | 25 |M5x0.8/| VN-6PSW-S|3/8B[17.8| 6 |32.5| 13 | 32
FTYaLCkN, FRATY L NEES y THEBEE ShBBAICE, KBIC “BT” £ TTFay, (NWBPSWS[1/2B]222] 71 | 35 | 13 | 32

Bottom Maunting (Option) : Symbol Mark “BT” example : VN-4D-S-BT

NI NERAY 7y MiEDEESNBHEICE. REIC

P” £ TTFE W,

Panel Maunting Lock Nut (Option) : Symbol Mark “P” example : VN-4D-S-P

_5_




